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SA-2 (CLASS-VI) : 3/2016
SUBJECT : ENGLISH

Time : 3 hrs MM : 80
General Instructions :

i)
i)
iii)
i)

Q1.

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.

SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7]
A long time ago there were two kings. One ruled over Kashi and the other
ruled over Magadh. They did not like each other. Once, both the kings were
travelling in thelr respective chariots when they came face to face. The road
was too small and only one chariot could pass at a time. The kings refused to

talk to each other so their charioteers began to argue to decide who would go
first.

The charioteer of the king of Kashi boasted, "My King has ten thousand
soldiers.” The charioteer of the king of Magadh replied, “My king also has ten
thousand soldiers.” The first charioteer said, "My king has two hundred
elephants and ten lakh acres of fertile land.” The second charioteer replied.
“My king has the same wealth.” The argument carried on for one hour. Then
the first charioteer remarked, “My king punishes bad people, dislikes lazy
people and uses his money for the betterment of the kingdom.” The charioteer
of the king of Magadh replied, "My king helps bad people to become better
human beings, makes lazy people work hard and uses his money for the
betterment of people.” When the king of Kashi heard this, he told his charioteer,
“Give way to their chariot first as the king of Magadh is a better human being
thari me. 1 think | should become his friend.” When the king of Magadh heard
this, he got down and embraced the other king. Thus, their enmity ended and
they became friends forever.

al What were the names of the two cities that were ruled by the kings
mentioned in the story? (1)

(b Why couldn’t both the chariots pass the road at the same time? (1)

(@ How did the attitude of the two kings towards the lazy and bad people
differ from each other? 2)

(A-1)



2.

[d) Which of the two kings first gave way to the other one? Why? 2)

el Find words from the passage which mean the same as given below _:
(2xbe=1]

M atwo wheeled horse-drawn vehicle ueed in anclenl warfars
(i}  hold closely in your arms

Read the poem given below and answer the questions that follow : [[&]]

What are they thinking?

The circus elephants,

As they tramp round the ring each night

And play with a ball that seems right?

Do they wish that they

Were far away

In the foresi’s leafy light?

Where they'd roam at will

And could eat their fill

Far from human sight.

As the gentle glants

Perform thelr tricks

The children stare with delight

But is it fair?

Should they be there?

Is keeping them caplive right?

@) What freedom does an elephant enjoy in the forest? im
(bl What tricks do the elephants perform in the circus? (1)
[c]  How do the children react when they see the elephants performing tricks

in the cireus? 1]
[d)  What kind of attitude should we adopt towards animals? (1)
le]  Give one rhyming word each for the following words from the poem :

[ fil (i} mnight (2x44=1)
(0 Find words from the poem which mean the ssme as the following :

i) asaslave (i} happiness (2x'4=1)

SECTION-E (WRITING)
You are a student of class V1 in Sachdeva Public School. Wrile a letter to the
librarian of your school requesting her Lo issue you a duplicaie library card as
you have lost the original one. (3]

(A-2]
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Q4. Make an attractive poster on the topic "Eat Right, Be Bright'. (5

0~ Look at the given picture carefully and describe your experience when you got
your final result last year. (4)

e

SECTION-C [GRAMMAR)

6. il in the blanks with sultable reflexive pronouns : [x¥=2)
(a) Mary saw _________ in the mirror.
(B} Weenjoyed ______in the park,
) | slipped and hurt
{d) They were angry with for the mistake.
Q7. Fill in the blanks with correct form of the verbs glven in the brackets © (Gxt=d)
(a) 1 have finished my studies. 1 will ___[take) a new job,
(b} Yesterdaythemaich  [start) at 10 a.m.
fc) Ttisstill [rain) outside
(d 1think ] (leave) the door unlocked.
(€] The World Cup (lake) place cvery four years.
() Ithas [stop] raining by now.

{A-3)



Q8.

Q9.

Q10.

a1l.

Q12

Fill in the blanks with suitable articles [4xb4=2]

My friend, Shubhi and | went to see (al ___ movie. It was a rainy Sy
and (b sun had nol yet come out. Bul we managed 1o reach
1] theatre. It was (d) antmatlon film and all the characters
Were Carioons,

Fill in the blanks with the correct adverh formed from the words glven in the
hrackets: (4x\a=l]

fa)  The boy looked at the chocolate box [greed).

(b) Itis good to do exercise (regular).

() Bring the medicines from the market (tmmediaie).
(dl Long powercuts were {entire) the company’s faull.

Fill in the blanks by choosing the correct prepositions from the brackeis :
(Axhe=2]
Sitting (a) (in/dovwm) the shade of the huge mango tree, Anita | urned
the pages of her book. She stopped (b]___ [on/with] page 32 which had
a beautiful picture of a rat. A small mouse was caught [c) fal/

between) it jaws. Anita thought (d] {about /from) the poor mouse
for a long time.

Choose the correct verb from the bracket and complete the sentences : (4% V=2)
{a) Mohit and his sister __ [study/studies) in this school.

(M Mathematics __ (isfare) an interesting subject.

() Mybrothers _______ (work/works) in HDFC Bank.

{d) Our teacher always {treat /treats) us affectionately.

Rewrite the following sentences in their passive form : [3x1=3)
la) The students were decorating the cluss.

M) 1 helped my friends.

(e} 1 will buy the tickets.

Q13. Fill in the blanks with the adjectives formed from the words given in brackeis:

[2x1=2)
a) We must stand when the (nation) anthem = heing played,
(b) He had to work hard to wash the {clirt) clothes.
€114, Fill in the blanks with suitable conjunctions : [Axia=2)

(a) - He is talented U lazy.

(A-4)
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b it rains, we will have to cancel the mateh.
\ e} Iclosed the window a strong wind was blowing from the north.
() It smowed very heavily _ the roads were blocked.
SECTION-D (LITERATURE)
015, Read the extracts given below and answer the questions that follow :[3x1=3)

(A} ‘But the Happy Prince looked so sad that the Hitle Swallow was sorry, "l
is very cold here,” he said, "but 1 will stay with you for one night and be
your messenger.” '

(a)  Why was the Happy Prince sad?
) Where did the Swallow wish to go?
[c)  Why did the Happy Prince want the Swallow to be his messenger?
(B) She munched cookies and watched the clock, (3x1=3)
As this putsy cookie thief diminished her stock
She was getting more Irritated as the minutes tcked by,
Thinking “If I wasn't so nice I'd blacken his eye!”
(al Who is referred to as ‘she’ here?
(b}  Why did she feel irritated?
(e} Was she right in calling him a thisf? Why fwhy not?
(116, Answer the given questions in 30-40 words each : [2x2=4)

(a)  Why did Swami's [ather wrile a lelter to Swami's headmaster? What
happened to the letter at the end of the story?

(b} Who was the thief in the story “The Case of the Missing Laptop™ Why
did she steal it?

@17. Answer the given questions in 30-40 words cach (2x2=4)

(@) In the poem, ‘The Cookic Thief", what did the man do when the last
cookle was left? How did the woman react to it?

(b)  In the puem, ‘The Wasp and the Bee', the wasp was arrogant. Do you
agree ar nol? Why?
(18, Answer the given question in 80-100 words ; (5

“The Happy Prince and the Swallow are perfect examples of humanity and
kindness.” Explain with reference to the lesson The Happy Prince’

OR

How can you say that Phacthon was an obstinate child? How did he suller
because of his attilude?

(A-3)
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019, Answer the given question in 30-40 words : ﬁ/ # ﬁ‘ﬁ
%ulﬂdhhﬁft@mtﬂlﬂﬁmtﬂ]ﬂnﬁﬂmlﬂhﬂwdm he re: &0 P
it? b ;
y
20, Answer u:egtnnqueﬁﬂmln'?ﬂ-ﬂﬂwurd::'. yaE 141

The strong bonding between the grandmother and the boy helped them Lo
avercome their disabilities. Explain with reference 1o the pocmn ‘One, Two.
Threel', it bk

OR " v
intelligence and unity of Five Chinese Brothers helped them escape from all
sorts of punishments. Explain with reference to the chapter The Five Chinesc

]

Brothers'.

Q21. Answer the following guestion in 30-40 words . i3
Why did Nanecy decide lo meet Hose Maylie? What did she tell her?

(22. Answer the following question in 80-100 words : i)

Who overheard the conversation between Nancy and Rose Maylie? What
happened to Nancy after that?

OR
What did Fagin tell Qliver and Mr. Brownlow when they came to meel him in
ihe prison? What happened Lo Fagin in the end?

(A-6)
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S5A-2 (CLASS-VI) /2016
SUBJECT : MATHS

Time : 3 hrs : MM : 80
General Instructions :

i
i)
iii)
iv)
ul
vi)
Bl.

(2.
Q3.

Q4.
{35
(6.
Q7.

Q8.

Q9.

Q10.

@11,
12,

All questions are compulsory.

Read all questions very carefully.

Questions 1 te 10 carry 1 mark each.

Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each,
Guestions 29 to 34 carry 4 marks each,

Express as an integer with appropriate sign :
Withdrawal of rupees nine hundred

Represent 2.7 on the number line.

Give algebralc expression for :

J times n to which 7 is added.

Write the opposite of 200m above sea level,

Are 40 : 4B and 50 : 60 in proportion? Give réeason.
Write in decimal form : Three tens and eight tenths.
Name a quadrilateral which has exactly 4 lines of
syrmeLry.

The perimeter of a regular hexagon is 240cm. How
long is its each side?

[f there are 12 apples in a basket. How many apples
are here in x baskets?

Write any lwo inlegers belween =2 and 4.

Find the ratlo of 36 minules to 4 hours.,

Write any one alphabet which has :

(a) only one vertical line of symmetry.

(b} no line of symmetry.

(1)



@1a.
Q4.

@16,

Ql7.

Q18.

Q19.

fa20.

Express 35km 14m as km using decimals,

Using the number line write the integer which = &
more Lhan -3.

. Find the rule which gives the number af matehaticks

required to make a pallern of letier i as |=

The cost of 20 pencils is ¥ 240. Find the cost of 5
such penclls.

Find the number of Hnes of symmelry [or the given
figures:

faal (L)

Find the cost of feneing a square playground of side
120m at the rate of € 10 per metre.

Fill in the blanks with > , < or = sign :

(@) 49-(-10) [J 13+(-2)

b) -12-2 ] 11-3

A group of 5 friends have a hobby of collecting stamps.

The given pictograph shows the number of stamps
with each child, Study the pictograph and answer the

questions below it :
Scale : |:| = 10 stamps

Name No. of stamps

sanil | (JOOO0O0O

robit | 10O

ankur | (J10000

cawav | (11000000
runeet | 1O00O00000000

(2)



g21.

Q27.

428,

(al Which child has maximum number of stamps?
o How many are they”

(B8]  Which two children have same number of stamps?
How many are they?

[c) How many more stamps does Gaurav have than
Rohit?

Lat Sameer's present age be y vears :

(a] What will be hiz age after 7 years [rom now?

M) What was his age 4 years back?

c) If his grandmother is 6 times his age. whal is
his grandmother’s age?”

. Divide 75 books in the ratio 2:3 between Mohit and

Neha.

. Construct an angle of 120° (using ruler and compasses).

Alsn write the steps of construction.

.[a) Subtract 12.027 km from 50 km

M Add 178.6H, 40.3 and 0.8

. A marble tile measures 26em by 20em. How many

tiles will be required to cover a wall of size 400cm by
J00cm.

. A footballer scored the following number of goals in

last 30 matches, Organise the given data using tally
marks.

1:2 1 2,9 8 2.2 282,10 1 3 2
3.3 2 3%223-221.21.3.38 ),/

Shilpa purchased 18 packets of erayona for T 320 and
Mamta purchased 9 packets of crayons for € 108, Who
purchased crayons at a cheaper price?

A school played 15 cricket matches out of which 9
matches were won,

(2)



g2e.

Q30

W3l

@32,

@33,

@34,

l2)  What is the ratio of the number of maiches played
to the number of matches losi?

(b)  What is the ratio of the number of matches won
to the number of matches logt?

[} What is the ratio of the number of matches played
to the number of maiches won?

Pick out the solulion from the values given in the bracket

nexl to the equation. Show that the other values do

not satisfy the equation :

x+6=13 -], ﬂ,ﬁ.?]

fal  Find the sum of -219, 40 and 302,

(b} Express 3% in decimal form.

A baker needs 5.375 kg of butter to bake a chocolate
cake and 3,250 kg of butter to bake a strawberry cake,
He has only 7.525 kg of butter with him. How mueh
more butter does he need (o bake both the cakes?

A floor is 7m long and 5m wide. A square carpet of
side 4m is latd on the Moor. Find the area of the floor
that is not carpeted.

Draw a line segment of length 12em. Using compasses,
divide it into four equal parts.

The following table shows the height of 4 trees.

Tree

Coconut | Neem Palm Mango

Height (in metres) | 85 50 90 £3

(@} Draw a bar graph to represent the above
information choosing the scale of your cholee.

(b)  Mention one henefit of planting tress,

(4]



BA-2 (CLASS-VI) 22016
SUBJECT : INTEGRATED SCIENCE

Time 2 hours MM : B0

General Instructions :

[i) All guestions are compulsory.

(if) Mention correct question number and part for each
QNnswer.

[iii) Attempt the questions in the same sequence as given
in question paper.

PART-A

Q1. Answer the following in one word or one scnlence each :

la)

(&)

[e)

i)

(e)

it

&

[1x15=1G)

Shreya wanled 1o select eclairs from a bowl of
comfectionary items in her friend's birthday party.
Which method did she use to pick eclairs from the
bowl?

Complele the analogy

Slcull ¢ brain :: Ribeage :

Three identical towels of red, blue and green colour
are hanging on a clothes line in the sun. What would
be the colour of the shadows of these towels?

Along magnet 18 broken into ten pleces. How many
north poles will be there in -

() ten pleces? (i) oneplece?

The area used for dumping garbage can be later
comverted inte a park. What Is this area known as?

Though clouds are non living, yet they show
characteriatics of living things. Menlon any two
guch characteristics shown by clouds.

Select the odd one put giving reason -
fruit peels, plastic spoons, vegetable peels. leaves

(1




2.

3.

(k] Which region of A magnet atiracts meaximum lm]r
filings?

() Identify the solute and solvent In sugar 5ol lon. l

)  What 15 meant by adaplation? ||

(k] .Afrisa mixiure of gasss. Name Lhe gas that :‘-:.Jrrn*
the major component of air.

(M} Amuit fell off from a tree and broke his ankle. How
did the doctor detect the presence of a fracture in
his ankle?

{m] Give two examples of aquatic habitals.

(n) Which type of garbage is collected in green and blue
bins respectively?

([6) Neha gave a glass of ice cold water to Amit. Amit
observed some water droplets en the ouler surface
of the glass. Name the process which causes
formation of these water droplets.

Fill in the blanks : (1xGmG)

(@)  Saltand water can be separated by process.

(b} Mountaineers carry gas In cylinders with
them.

(€} The method of separating seeds of paddy from its
stalks i= called

{d) The upperjaw in humans hasa ___ jolnt.

() Dolphins and whales breathe i afr through

Give a technical term for the following : (1x5=5)

[a) The process of setthing down of heavier and insoluble
particles in a mixture.

(b)  Additional parts of the skeleton that are not as hard

as the bones and can be bent,

(2]
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)

(€]

The ability of living organisms to produce more
individuals of their own kind.

The process of getting rid of wastes by the living
Organisms.

An ebject that allows only some light to pass through
iL.

PART-B
Angwer brielly : [2x10=20)
(a) () Define saturated solation.,
{il What happens if a saturated solution of a
suhslance is heated?
bl ] How isa shadow formed?
(] What are the three conditions required for the
formation of shadows?
2]  Mention the method for the separation of the following
mxmures -
{1} A mixture In which the constituents have
different weightis.
() A mixture that has constituents of different
Elpes
[d} When Rashmis grandmother lost her sewing nesdls,
she used a magnet to find her grandmother's neadle,
(il Which property of magnet 12 used to find the
needle?
it} What value is shown by Rashmi?
[e)  Tdentify the types of joint used by a ericketar whils

bowling the hall :
(i) atthe shoulder (H] at the elbow

Also differentiate between the types of joints used
by the cricketer,  *

(3]
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(hi

i

A

Study the given fgure and ansewer the following
guestions: e

(i Name the methoed shown.

(i) Write any two uses of this method in our daily
Iife.

State two features of each of the following that help

them to adapt to their respective habitats.

(il cactus ) deer

1  Why do bubbles appear on tilting an empty
bottle in water as shown In the given Agure?

(i) Write any two uses of air.

Sunita does not take plastic hags fram vendars but
prefers to carry her own cloth bag for shopping.
Mention any two L1l effects of using plastic bags.
Magnets become weak, i they are not stored properly.
To keep them safe, how should they be stored?

(4)
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Answer the following : [3x5=117)

(a)

()

(]

(d

Explain the construction and working of a magneric
COMPAgS. .

(L) Observe Lthe glven diagram and anawer the
fallewring questions .

(1}  Why does candle "A’ keep burning?
(2] Why does candle ‘B' get extinguished or
put off?
(ii} Define atmosphere.
Write any three precautions which should be taken
during vermicomposting.
(il - Which property of light is explained by the
given ligure?

: —>

(i} Distinguish belween luminous and non
luminous sources of light with examples.

(3



a7.

) Glve reasons for the following adaplations -
(]  Theeyesof lion are placed in front ol the fage,
(i} Mountain plants have needie like leaves
(il Webbed fest of the frog.
Draw neat and well-lubelled dagdrams of ! (443+3]
{a) Types of magnets
b  Pinhwole camera
(¢} Composition of air
Answer the following guestions (Gx2=10
(a] () ldentfy the following animals -
(1] 1t moves with the help of it muscular
feot.
(2) It moves by alternale expansion and
contraction of the body muscles.
(3 I swhms in waler by twisting the body
alternatively on both sides.
(4] Forelimbs converted into wings,
(i) ‘M and ‘N’ are two bones Lo which the two
ends of the ribs are attached (o form a ribcage.
Identify ‘M and N'.
(i) How do muscles make the bones move?
(6] () Define stimull, Identify the stimuli in the ghven

sxamples

(1) Withdrawl of hand on touching a hot
par.

(2) Wild animals run away when bright light
is flashed lowards them.

[{) Earthworms have tiny hair - like projections
under thair body. Name these projections and
alen state their functlon.

(6l




SA-2 [CLASS-VT) 2/2016
STRIECT : SOCIAL SCIENCE

Time : 3 hrs MM : B0
General Instructions :

i
1)
iii)

i)
vl

vi)
vii)

Read all the questions cargfully and number the
answers according to the questions.

Multiple choice guestion is to be answerad in tha
answer sheet only.

Write all the answers in neat and legible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2
and 3.

Attach the maps properly to main sheet.
Questions carrying 3 marks should be answered
within 60-80 words.

viii) Questions carrying 5 marks should be answered

gl.

within 80-100 words.

Each question has four options out of which only one
t& eorrect. Choonse the correct option angd write il in

the answer sheel. (1x6=0)
i} Kalinga was the ancient nameof .
(1) Bengal (b) Tamil Nadu

[e) Coamstal Odisha . [(d) Andhra Pradesh
(i) Pulakeshin's Prashasti was composed by his court

poet named 5
ja) Harishena (b) Rawvikird
(e} Banabhatla [} Chanakya
(i) ____ meanaacparation on the basis of race.

{a} Discrimination () Apartheid
fc)  Stereotype (d) Prejudice

[



Q2.

3.

iv)

Y]

{vi)

The Zila Parishad mukes developmental plans
atthe __ level -‘

fal Village - (b) [astriet
[¢] Block (d) State

The despest point on the earth, Mariana Trench
lies under the

[a) Arciic Ocean (h]  Atlantic Octan
{e} Pacifle Ocean {dl Indian Ocean

i= {he country where river Yangtze flows.
{a)] India (b) Russia
[c) Australia (dl China

Correct the following incorrect statements @ [1x6=6)

1)
(il
(441}

[iv)

)

(vi)

Ashoka's inseriptions were written in Devanagari
reripl.

The title ‘Maharaj-adhiraja’ was first given to
Samudragupta.

Panchayat Presldent is alse known as Ward
Councillor.

The crganisation which led the struggle against
Apartheld in South Alrica was Indian National
Congress.

The Himalayan is the oldest mountain range in
India.

The Andaman and Nicobar Islande are Jocated
inn the Arablan Seca.

Answer the following questions in one sentence each:

(1)
{id)

(i)

[lx8=8)
Who was Seleucus Nicator?

Mention the two major centres of power of the
kushanas. '

Write the old name of the eity Allahabad.

(2]



Q4.

Q5.
6.
Q7.

@8,

(24,

(iv] List any two ways in which the non whiles wers
discriminaied against in South Africa.

[v) Who I8 a Municipal Couneillor?

(vi] Define Delta.

(vil] Which longitude has been taken as the standard
Meridian of India?

(viii) Name the two west lowing rivers.

What were the problems that Ashoka wanied to solve
by introducing Dhamma? (3):

Why did kings want to control the Stk Route?  (3)
Write a short note on the ruler Harshavardhana. (3).
What are the various sources of funds for the
Panchayat? (3
Discuss any three functions of Municipal corporation.
]

Describe any three ways in which people participate
in the process of government. 31

(310, 'Flains are the most uselul areas for human habitation?

Discuss. (3

{311. Distinguish between Western and Eastern Ghais. (3} -
{12. “India lies in the largest continent of the world', Identify

and briefly describe il. |3

Q13.(a) List any lwo principles of Ashoka's dhamma.

(b}  Describe the means adopted by Ashoka to spread
the message of dhamma. (2+3=5)

{314. What is a Prashasti? Give a briel description of

Samudragupta’s Prushastl. (2+3=5)

Q15.(a) Define Panchayat.

(k) How are the Gram Sabha and Gram Panchayat
linked o each other? [1+4=0)

(3



SA-2 (CLASS-VI) 4/2018
SURJECT : SOCLAL SCIENCE

Time : 3 hrs MM : 80
General Instructions :

i)

ii)

i)

iv)

v

vi)
vii)

Read all the questions carefully and number the
answers according to the guestions.

Multiple choice question is to be answered in the
answer sheet only.

Write all the answers in neat and legible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2
and 3.

Attach the maps properly te main sheet.

Questions carrying 3 marks should be answered
within 80-80 words.

vill) Questions carrying 5 marks should be answered

Ql.

within 80-100 words.

Each gquestion has four options out of which only one
s correct, Choose the correcl oplion and write it in

the answer sheel. [ 1x6=6]
(il Kalinga was the ancient name of {
(a) Bengal (b) Tamil Nadu

[¢) Coastal Odisha (d) Andhra Pradesh
(i) Pulakeshin's Prashasti was composed by his court

poet named ;
(a) Harishena (b) Ravikirti
(¢)] Banabhatia {dl Chanakya
(1) means separation on the basis of race.

(a) Discrimination b} * Apartheid
el Stereoiyvpe id) Prejudice

(1
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SA-2 (CLASS-VT) 32018
SUBJECT : FRENCH
Tidec13 hrs MM : 80
Genaral Instructions !
i)  Read all the questions carefully.
ii) Number the answers as given in the gquestion paper.
iiif}] Write in a neat and clear handwriting.
i)  Write the answers in complete seénlences.
SECTION-A [COMPREHENSION ECRITE|
Al. Lisez et répondez :

Les deux amies Marie el Sonia digsculent dans un café.

Marle est frangalze ot Sonla est indlenne. Ellas parlent

des repas [rancais.

Sonin : Salut Marle! Quiest-ce que tu prends?

Marie : Salut Somia! Je prends du cabé chaud et je
mange des sandwichs aussi. EL tol?

Sonia : Je prends du café frold. Guels sont les repas
francals?

Marle : Au petit-cdéjeuner, les francafs hofvent du café.
Nous mangeons des tartines avec du beurre
ou de la confiture.

sonla @ Dhaccord! Et an déjsuner?

Marie : Audéleuner, nous prenons des sandwichs, des
legumes, du riz el de la salade. 1l y a souvent
un dessert A Ia fin du repas.

Somia ¢ Trés bien! Ei qu'est-ce que vous mangez le
solr?

Marie  Le soir, c'est le gofiter. Nous buvons du café
ou du the avee des biscuils, Les enfants almenl
le lait &t les fruits.

Sonia @ C'sst blen! Comment sat 16 diner?

Marie : Audiner. nous prenoms des legumes on de la
viande, des baguettes, du fromage et un dessert
i Ia fin.

(1)



Sontn  :  ElLguiest-ce quils bolvent avee Is repas?

Marle : [ls boivent souvent du vin avec le repas.
Al.1 Répondez: (2% =2)

(i} Qu'est-ce que Marie prend au calé?

()} Qu'est-ce gue les [rancals mangsnt au diner?
Al.2 Dites vrai ou faux [(Ax1=3)

il  Marie est francaise.

i}  Elles parlent des repas indiens.

(1] Les deux amles gont dans un eafé.

Al.3 Cochez la bonne réponse : [3x1=3}
(i} Sonia prend du:
fa) caféchaud (b)  café frofd
[¢] sandwich
(i} Au petit-déjeuner, les [rancais boivent : \
(a) duvin M) dulait
(¢} ducafé \
() Lesenfonts alment :
(a) les fruits () les Gromages
el leslégumes
A2, Lisez:
La maison de Marie

C'est ma maison. Elle est grande e belle, [l ¥ a un rez-
de-chaussée ot deux dtages. Au rez-de-chaussds, il y a
un salon, une cuisine et une salle a4 manger. Dans la
maison, 11 v a aussl un escalier, Au premier etage. [y a
la chambre de mes parents avec une salle de bain. Ma
chambre est au deuxiéme ¢lage. Jalme ma chumbre, Elle
esl bres confortable. I y a un beau jardin autour de ma
malson. Je joue dans l2 jardin le soir.

A2.1 Répondez aux questions : [2x1=2]
(il Nyacombien d' étages dans la maison de Marie?
[fil Qu'est-ce que Marie [ait le sofr?

(2)




A2.2 Dites vraiou faux [3x1=3)
' M Lamaicon de Marle n'est pus confortable,

) Aurez-de-chiaussée. il y a un salan, une culsine el
une salle i manger,

(i) La maizon est grande et balls,

A23 Cochez la bonne réponse ; [2xlw2)
i} Ilyaunbeay - Bulour d& ma maison.
@) parc (bl piscine
e} jardin
() Lachambre de Marie ¢st au ]
(@ deustéme dtage {b)  premier étage
€} rezedeschausseée
SECTION-B [EXPRESSION ECRITE]
Bl. Decrivez votre école. Déssinez ausef. (5)
H2. Nommez ¢t déssinez clng choses qu'on trouve dans le
salon. (3
B3  Quest-ce que les frangais mangent au déjenner et au
gotter? (5)
B4 Regurdez les lmages et répondes [2+2=5) -
{a)

() Cast guelle satson?
()  Aimez-vous cette saison? Pourguoi?

3




Cl.

2 8

()
(1)

On sonl-ils™
Que font-lls?
SECTION-C [GRAMMAIRE]

Mettez les verbes au présent (5x1=5)

1]
()
(i)
{iv)
v

Je iprendre) le bus.

Elle _______ [voulolr) du giteau.
n____ (boire) du coca.

Nous _ (partir] &0 VACHICES.
Je  [pouvelr) chantet.

Cholsissez et éerivez la bonne réponse © [Sx1=5]

()
(i}
(i11)
(iv)
(vl

Jemange ____ salade. [du/de la/des)

Nous almons fruits. (le/1a/les)
Leatyloest 1a tahle, [sur/devant/ enire)
Munuel parle _________ fille. jaufa la/aux)
Cpst le chapeau __ garcon. (de la/das/du)

Conjuguez le verbe ‘voir’ (A Fallirwatif). (3)

i)
(]

Compléter avee Vadjectifl possessif {EixYa=3)

{mon, ma, mes. ... ete.)
Jhabite dans ________ malson avec parents.

Vous portez jupes?

[4)




C5.

C7.

CB,

Ca.

Cl10.

Dl.

My Hmet_ chemlse

(Wl Vous Minisses e lravall,

V) Tuparlesa _____ amis?

Mettez ces phrases 3 1a forme négative ; [3x1=3)
[} Nous détestons les chocolats,

() 1l aun erayon.

(i) Je mange de la salade.

Transformesz les questions en utilisant, <<Bst.ce quE.... s>
ou <<Esl-ce qu’..,,,.Pax (3x1=3)

(i} Vous regardez la télep

() Nous allonz au restaurani?

(i) 11 vient le soir?

Trouvez la question ; (2x1=2)
[l  Ce sont des cartables.

() 1 =sappelle Paul.

Hetrouvez les phrases (2x1=2)
()  =en/Paul/cahier/ prend.

() weut/pas/li/de/ne/gace.

Corrigez la [Euie - ; (2x1=2)
(I} Nous viens de Paris,

(i) Manuel met &on cravate.

Chassez I intrus : (2x1=2)
(1l Mon, Ton. Son. Leurs.

() Lajupe, La robe, Ly chemise, Le pantalon.
SECTION-D [LA CULTURE ET LA CIVILISATTION]
Dites vrai ou faux ; (5x1=5)
i} Il faut étre sympathique aux pauvres,

(]  Manuel adore le cours de musique,

(L) 1l faut respecter nos wstituteurs,

{iv)  Les amis de Manuel viennent & la maison pour le
diner,

vl Nous aimons nos parents,
15




D2.

Cholsissa et éorivez a bonne réponse | (3x1=5)

(i)

(uy

(1]

(iv)

Mme Lavigne met du_____ dans le [rigo.
(a) coca (b}  jus de [ruits e
fe} lalt

Manuel habile avec .

(a) sesparents (B)  ses grands-parents
[c] sesamis

Les vaternenis de femme el de fille sont au

fa) premierétage (b) trolsiéme elage

() deuxidme étage

Le terrain de sportest ___ l'école,

@) devant ) derricre

{c] 4 cotdde

(v) Aneeshaime
fa) les crépes bl le pateau au chocolat
¢l lefromage

Rellez : [Bx4=3)

(i) Lachaise (a) Lepain

fii} Dans b) Lavbiement

(il Les croissants (6] Lefruit

(W) Lajupe (dl Lesalon

(v) Le terrain de spori (&) Lapreposition

[vil La pomme (0 Lécole

Répondez : (2x1=2)

] Quelle couleur préfére Catherine?

(il  @uest-ce que Mme Lavigne prépare?

(%




5A-2 [CLASS-VI) 2/2016
SUBJECT : COMPUTER SCIENCE

Time : 2 hrs MM : 50
@1. Choose the correct answer and wrile it in the answer
sheet @ (Bx1=6)

(1)

Tab from which video clips can be added to n
slide-

fa) Home () Format
fc) Insert (d) Layout
() View in which transition effects can be seen -
laj Normal (b) Slide Show
{c) Notes Page [d) Reading
(i) The extension of recorded sound files -
fa) .midi (bl .mwa
lc) .wav (d] .bmp
[iv) ItisaUSA based popular e-conumerce company-
(a) Amazon.com (b) Flipkart.com
(c) Bing.com (dl Google.com
(v) Tt is the popular social networking site -
(a) Google (k] Facebook
e} Yahoo (d] Flipkart
(vi) QB64 was developed by -
[a) JohnG. Kemeny (b) Thomas E. Kurtz
([c) Larry Page (d) Galleon
Q2. Answer the following questions in one word or
sentence- [Bx1=8§)
[l Special effects given to the slides in MS-

Powerpoint.

(1)



Q3.

@3

(4]
(iid)

(iv)
[v]
(vi)
(wii)

Name the founder of WWW.

Date on which Internel services were starfed
in Indla.

Name the company that owns Gmail.
Extension of a QB64 program file.

Sign added at the end of a string vartable.
Give full form of BASIC,

[vilil QBG4 statement thal is used to display the

putput on the screen.

Answer the following questions :

il What do you understand by ‘Animation™ How
iz it helpful In a presentation? (3)

(il What is an Action button? Why do we use it in
a slide? 3

i) Write three features of QBG4 language. (3]

{iv] Write the steps to insert your own sound in a
presentation. (4)

Write the full form of the following : (3x1=3)

(i URL (i ISP

() ARPANET

Write short note on - (4x2=8)

[l E-Commerce

(i) Viden Conferencing

(iif) Internet

(iv) E-mail

Answer the following : (5x2=10)

(i)

What is signature {n an e-mail?

2)



Q.

(1]
[111)

fiv)

[v]
(i)

{ii)

Define variable, Name the two types ol variables.

Differentiate  between  Numerie  and
Alphanumeric constants.

Define the term ‘Hierarchy of operations’. Write
the hierarchical order of the arithmetic operators
in QB64.

Name any two types of operators in QBG64.

Rahul is a salesman. He hardly gets time to
visit the bank. Which internet service he can
use to do all his banking activities? (1)
Karan has written a program in B64 to compare
two values. Which operator he can use io
represent ‘Less than or equal to’ condition in
ABG4? (1)



